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QUESTION 1. READ the following PASSAGE and ANSWER the questions below:

Fln its book, "itis a truism that a government should definitely spend more money on improving all forms
of public transportation’, WTA stated. The widespread use of private cars has contributed to some serious
problems in society. including depletion of natural resources, increased pollution, and loss of a sense of
community. By encouraging the use of public transportation, governments can do a lot to counteract these
problems. Cars depend on oil, a nonrenewable resource. Once we have used it up, it is gone forever. Every
time a person gets into a private car to g0 to work, to store, or anywhere; oil is used up just to take one
person to one place. The more people drive their cars, the more resource is used up. When people use
public transportation, on the other hand., less oil is used up per person.

However, cars cause pollution. Every time a person drives his’her car somewhere, more pollution is put
into the air. In many big cities. the high amount of air pollution causes health problems for residents.
Public transportation means fewer cars on the road, i.e., less pollution. Cars tend to isolate people from
each other. That is, when a person uses a private car, s’he is alone or only with people that s/he already
knows. S/he doesn't have the opportunity to see other people or talk to them or feel that s/he is part of a
larger community. When s/he uses public transportation, however, s/he is surrounded by neighbors and
other fellow city residents. In other words, s'he has a chance to be with people s/he might not otherwise
L see, and maybe even to get to know them little.

Part I: Choose the correct alternative (a, b, c.d):

1. The appropriate title for the passage is:
a) Cars Pollution b) Public Transportation ¢) Problems of Transportation d) Private Transportation

2. Private cars make a person . ...
a) with those s/he knows b) away from his/her community c¢)a&b d) None of these

3. How can people save the natural resources?
a) through using oil b) through using public cars ¢) through walking to work d) none of these
4. Tt is, economically, true that public transportation is better than private transportation because:

a) it is cheap b) people know each other ¢)itisvery quick d)itsaves time

5. It is, socially, true that public transportation is better than private transportation because:
a) it is cheap b) people know each other  ¢) itis very quick  d) it saves time

- 6.Oil can be reproduced. This statement 18 .5
a) True b) False ¢) Sometimes d) I don’t know

7. The pronoun 'its' in line 1 refers to:
a) government b) WTA ¢) truism d) transportation

Part I1: Based on the passage. choose the best alternative (a, b, c, d) below that carries
the same meaning for the word given:

8. Counteract:
a) increase b) lessen ¢) solve d) face

9. Residents:
a) males b) presidents ¢) females da&c



\CAH

10. Put into:
a) put b) spread ¢) crashed d) mixed

11. Depletion: :
a) evaporation b) finishing ¢) saving d) using

QUESTION 2. Choose the correct MOVE (a, b, c. d) in the following dialogsue :
12. A: How do you do? :
B: a) I do well b) Nice ¢) I'm fine d) How do you do

13. A: a) What do youdo? b) Nice to see you. ¢)How are you? d) Who are you?
B: So do I. :

14. A: My father passed away last night.
B: a) By car? b) I see. ¢) Take it easy. d) I hope him a good trip.

15. A: Thank you for your present.
B: a) Don’t mention it. b) You deserve it. c) Pardon. d) None of these.

QUESTION 3. Choose the correct alternative (a. b, ¢, d):

16. To help needy people . ... a good thing,
a) do b) are ¢) doing d) is

17. The ambassador has left e New York.
a)to b) at ¢)in d) for

18. Do we have another g0?. Theword 'ga'is .
a) an adverb b) a verb ) anoun d) an adjective

19. The information you provide .. worthy,
a) are bl .o c)is d} does

20. Really, it is the only solution ...
a) find b) found ¢) finding d) finds

21. He came late. He should be punisheds '« v 1y
a) additionally b) consequently ¢) as a result d) as well

. S - problem was the only aim intended,
a) Solve b) Solves ¢) Solved d) Solving
23. Please, don’t be AOETY vt i, TG
a) with b) at c) from d) on

24. The word 'goose'is .
a) food b) an animal ¢) a bird d) not a word in English

25. The person who receives people at a hotelisa .
a) secretary b)) receiver C) receptionist d) receipt

The Very Best!
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QUESTION 1. READ the following PASSAGE and ANSWER the questions below:
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In its book, "it is a truism that a government should definitely spend more money on improving all forms
of public transportation", WTA stated. The widespread use of private cars has contributed to some serious
problems in society, including depletion of natural resources, increased pollution, and loss of a sense of
community. By encouraging the use of public transportation, governments can do a lot to counteract these
problems. Cars depend on oil, a nonrenewable resource. Once we have used it up, it is gone forever, Every
time a person gets into a private car to go to work, to store, or anywhere; oil is used up just to take one
person to one place. The more people drive their cars, the more resource is used up. When people use
public transportation, on the other hand, less oil is used up per person.

However, cars cause pollution. Every time a person drives his/her car somewhere, more pollution is put
into the air. In many big cities, the high amount of air pollution causes health problems for residents.
Public transportation means fewer cars on the road, i.e., less pollution. Cars tend to isolate people from
each other. That is, when a person uses a private car, s/he is alone or only with people that s/he already
knows. S/he doesn't have the opportunity to see other people or talk to them or feel that s/he is part of a
larger community. When s/he uses public transportation, however, s/he is surrounded by neighbors and
other fellow city residents. In other words, s/he has a chance to be with people s’he might not otherwise
see, and maybe even to get to know them little.

Part I: Choose the correct alternative (a. b, ¢, d):

1. Tt is, economically, true that public transportation is better than private transportation because:
a)itis very quick  b) people know each other  ¢) it is cheap d) it saves time

2, Oil can be reproduced. This statementis .
a) true b) I don’t know ) sometimes d) false

3. The pronoun 'its' in line 1 refers to:
a) government b) truism c) WTA d) transportation

4. The appropriate title for the passage is:
a) Cars Pollution b) Public Transportation  c¢) Problems of Transportation d) Private Transportation

5. Private cars make a person .
a) with those s/he knows  b) away from his/her community c)a&b d) None of these

6. It is, socially, true that public transportation is better than private transportation because:
a) it is cheap b) it is very quick ¢) people know each other  d) it saves time

7. How can people save the natural resources?
a) through using public cars  b) through using oil ¢) through walking to work d) none of these

Part I1: Based on the passage, choose the best alternative (a, b, ¢. d) below that carries
the same meaning for the word given:

8. Depletion:

a) evaporation b) saving ¢) finishing d) using
9. Put into:
a) spread b) put c¢) crashed d) mixed
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10. Residents:
a) males bla&ec ¢) females d) presidents

11. Counteract:
a) lessen b) solve c) face d) increase

QUESTION 2. Choose the correct MOVE (a. b, ¢, d) in the following dialogue :

12. A: Thank you for your present.
B: a) You deserve it. b) Don’t mentionit.  ¢) Pardon. d) None of these.

13. A: My father passed away last night.
B: a) Take it easy. b) By car? c)lsee. d) T hope him a good trip.

14. A: a) What do youdo?  b) How are you? ¢) Nice to see you.  d) Who are you?
B: Sodo L.

15. A: How do you do?
B: a) How do you do. b) I do well ¢) Nice. d) I'm fine.

QUESTION 3. Choose the correct alternative (a. b, c. d):

16. Really, it is the only solution ...

a) find b) finding ¢) found d) finds
17. He came late. He should be punished, ...
a) consequently. b) additionally. ¢) as a result. d) as well.
18. ... ... ... theproblem was the only aim intended.
a) Solve b) Solves ¢) Solved d) Solving

19. Do we have another go?. The word 'go"is . . ...
a) an adverb b) a verb ¢) anoun d) an adjective

20. The word 'goose' s ...

a) a bird b) food ¢) an animal d) not a word in English
21. The ambassador has left ... NewYork
a) to b) for ¢) at d) in
22. The information you provide ... worthy.
a) are B) e c)is d) does
23. Please, don’t be angry ... ... him.
a) at b)from c)on d) with
24. The person who receives people at a hotelsisma .t eg
a) secretary ~ b) receiver  ¢) receptionist . d) receipt
25. To help needy people . ... agood thing.
a) do b) are c)is d) doing

The Very Best!




